Answer key

LISTENING

Section I, Questions I-10

[ O

Section 3, Questions 21-30

! by minibus/a minibus 21 B
2 15715 people 2 A
3 April (the) 18th 23 C
4  Pallisades 24& 25 INEITHER ORDER
86 INEITHER ORDER B
B D
D 26 full-time
7 280 27 aterm/oneterm
8 14 28 intensive
9 20% 29 two modules / (for) two terms
10 39745T 30 4 topic/ one topic

Section 2, Questions 11-20 Section 4, Questions 3140

Il move around / move about 31 politics
12 brakes 32 learn

13 fingers 33 children’s education / their children's education
14  satisfuctory 3 acar

IS put (it) together 35 nursing care

16  too wide 36 crisis

17 dangerous 37  early twenties

18 wheels 38 confidence

19  (the) best / (the) best buy / safe 39 money management
20 sharp 40 low-risk investments
If you score...

0-13 14 28 29-40

you ure highly unlikely to get you may gel an acceplable you are likely 10 get an

an acceptable score under score under examination acceptable score under
exumination conditions and we | conditions but we recommend | examination conditions but
recommend that you spend a that you think about having remember that different

lot of time improving your more practice or lessons before | institutions will find different
English betore you take IELTS. | you take IELTS. scores acceptable,
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ACADEMIC READING

Answer key

Reading Passage 1, Questions 1-13 :‘: g
1-3 IN ANY ORDER 22 C
D 23 NOT GIVEN
E 24 TRUE
G , 25 FALSE
4 clerks/ copying clerks 26 FALSE
5 library
6 stability R
7 pension Reading Passage 3, Questions 2740
8 TRUE 27 YES
9 FALSE 28 NOT GIVEN
19 NOT GIVEN 29 NO
11 FALSE 30 NOT GIVEN
12 FALSE 31 YES
13 TRUE 12 NO
3 C
Reading Passage 2, Questions 14-26 4 D
33 C
14 F % B
15 A 37 B
i6 B 8 E
17 D 9 D
18 I 40 1
i9 C
If you score . ..
0-11 12-29 3040
you are highly unlikely to get you may pet an acceptable you are likely to get an

an acceptable score under
examination conditions and we
recommend thal you spend a
lot of time improving your
English before you take IELTS.

score under examination
conditions but we recommend
that you think about having
more practice or lessons before
you take IELTS.

acceptable score under
examination conditions but
remember that different
institutions will find different
scores acceptable.
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Answer key

LISTENING
Section 1, Questions 1-10

(4) bank statement
125 (per year)
8

1
2
3
4
5 LS50

6 48

7  local papers / local newspapers
8 (a)card/ cards

9 Grantingham

0 Friday

1

Section 2, Questions 11-20

LEST 2

(passport) photos / ( passport) photographs

Section 3, Questions 21-30

21  home/student’s home

22  (have) dinner / come to dinner/ go to dinner
23 technical

24 slang

25  cooperating / cooperation

26  persuading

27  editing

28  complete

29  experiment

30 long

Section 4, Questions 3140

11 C 31 58
12 C 32 desert
13 A 33 science
14 C 34  hospital / small hospital
15 A 35 ship
16 £75000 36 platforms
17  computers 37 3,500
18-20 INANY ORDER I8 currents / ocean currents
C 39  (the) pollution
E 40 young
F
If you score . . .
012 13-27 28 40

you are highly unlikely to get
un acceptable score under
examination conditions and we
recommend that you spend a
lot of time improving your
English before you take IELTS.

you may get an ucceplable
score under exumination
conditions but we recommend
that you think about having
more practice or lessons before
you take IELTS,

I—
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you are likely Lo get an
acceptable score under
examination conditions but
remember that different
institutions will find different
scores acceptable.




ACADEMIC READING

Reading Passage 1, Questions 1-13

L R - R T T SR

10
11
12
13

candlewax
synthetic
chemistry
Novalak
fillers
hexa

raw
pressure
B

C

TRUE
FALSE
FALSE

Reading Passage 2, Questions 14-27

Answer key

21  problem solving
22 1emporal lobes
23  evaluating information

1 C
25 A
26 F
27 D

Reading Passage 3, Questions 28-40

28 Latin

29 doctors

30& 31 INEITHER ORDER
technical vocabulary
grammatical resources

32 Royal Society

33  German

34 industrial revolution

14 FALSE 35 NOTGIVEN
15 NOT GIVEN 36 FALSE
16 TRUE 37 TRUE
17 FALSE 3 popular
18 TRUE 39  Principia / the Principia / Newton’s Principia /
19 NOT GIVEN mathematical treatise
20 TRUE 40  local / more local / local audience
If you score . ..
0-12 13-29 3040
you are highly unlikely to get you may get an acceptable you are likely to get an
an acceptable score under score under examination acceptable score under
examination conditions and we | conditions but we recommend | examination conditions but
recommend that you spend a that you think about having remember that different

lot of time improving your
English before you take [ELTS.

more practice or lessons before
you take IELTS.

institutions will find different
scores acveptable.

155



Answer key

' ST 3

LISTENING
Section I, Questions 1-10 Section 3, Questions 21-30
1 |.4litres /1.4 liters 21 5th May
2 automatic 22 16th July / Friday |6th July
3 light/sky 23 clear / was clear
4 credit 24  (an/the} outline / (a/the) course oulline
§  Harries 25 (1he) 2nd half
6 Dr/ Doctor 26  (standard of) teaching / (standard of) teachers
7 Allon 27  discussion / group discussion
8 messages 28  handouts
9 Lion 29  written work
10 reasonable 30 student support / suppert for students
Section 2, Questions 11-20 Section 4, Questions 3140
11 & 12 IN EITHER ORDER 3 12.5%
C 32  incineration plants
E 33 drop-ofl
13 references 34 cooking
14 country 35 500,000
18 weather 36 roads
16 C 37  soil conditioner
17 C 38 conlainers
13 A 39  pencils
19 B 40  business cards
20 C
If you score . . .
0-13 14-28 29-40
you are highly unlikely to get you may get an acceptable you are likely Lo get an
an acceptable score under score under examination acceptable score under
examinalion conditions and we | conditions but we recommend | examination conditions but
recommend that you spend a that you think about having remember that different
lot of time improving your more practice or lessons before | institutions will find different
English before you take IELTS. | you take IELTS. scores acceptable.
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ACADEMIC READING

Answer key

Reading Passage 1, Questions 1-13 20 :{408
1 E
1 D 22  NOT GIVEN
z B 23 YES
3« 24 F
4 E 2% A
5 B 26 B
6 D
; g Reading Passage 3, Questions 2740
2 2 27 E
100 C 28 B
11 TRUE 9 A
12 FALSE W0 F
13 NOT GIVEN 31 B
12 NOT GIVEN
Reading Passage 2, Questions 14-26 33 FALSE
. 34 NOTGIVEN
14 iv 35 TRUE
15 i 36 FALSE
6 v 37 TRUE
17 v 38 B
18 YES A
19 NOT GIVEN 40 D
If you score . . .
0-11 12 28 2940

you are highly unlikely 1o get
an acceplable score under
examination conditions and we
recommend that you spend a
lot of time improving your
English before you take TELTS.

you may get an acceptable
score under examination
conditions but we recommend
that you think about having
more practice or lessons before
you take IELTS.

you are likely to get an
acceptable score under
examination conditions but
remember that different
institutions will find different
scores acceptable.




Answer key

LISTENING

Section 1, Questions 1-10

& 000 I S e

14 Hill Road

between 9 and 9.30/9-9.30

[ year

intermediate

North-West

vegetarian

(a) (real) garden

(the) only guest

100

23rd March / Monday 23rd March

Section 2, Questions 11-20

LSt 4

Section 3, Questions 21-30

21
22
23

2RENERE
TDEN>m>»

sales

competilion

interest rateés / rates of interast
training

Section 4, Questions 3140

Il clubhouse 31 B

12 picnic n A

13  prizes 3 A

4 10 4 C

15  Wednesday afternoon(s) 3’5 A

16 4 3% B

17  Sunday afiernoon(s) 37 B

18 collect (the) fees / collect (the) money 3 A

19  send (out/the) newsletter(s) 3 B

20  supervise (the) teams 0 C

If you score . . .

0-12 13-27 28 40

you are highly unlikely to get you may get an acceptable vou are likely to get.an

an acceptable score under score under examination acceptable score under
examination conditions and we | conditions but we recommend | examination conditions but
recommend that you spend a that you think about having remember that different

lot of time improving your more practice or lessons before | institutions will find different
English before you take IELTS. | you take IELTS. scores acceptable.




ACADEMIC READING

Answer key

Reading Passage 1, Questions 1-13 21 K

1 it g E

2 v 24 TRUE

3 i 25 NOTGIVEN

4 YES 26 FALSE

5§ YES

6 NO . y

7 YES Reading Passage 3, Questions 27-40

8 NO 27 TRUE

9 NOT GIVEN 22 TRUE

10 cheese 29 NOTGIVEN
11 tourism/tourist/tour 30 FALSE
12 pottery 31 FALSE
13 jewelleryfjewelry 32 TRUE

33 FALSE
Reading Passage 2, Questions 14-26 34 temperatures
35 day-neutral / day-neutral plants

14 G 36 food / food resources / adequate food /
15 A adequate tood resources
16 H 37 insects/ fertilization by insects
17 C 38  rainfall / suitable rainfall
18 F 39 sugarcane
19 1 4  classification
20 C
If you score . ..

0-12 13-28 29-40

you are highly unlikely to get
an acceptable score under
examination conditions and we
recommend that you spend a
lot of time improving your
English before you take 1ELTS.

you may gel an acceptable
score under examination
conditions but we recommend
that you think about having
more practice or lessons before
you take IELTS.

you are likely to get an
acceptable score under
examination ¢onditions but
remember that diftferent
institutions will find different
scores acceptable.
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Answer key

GYSERAT TRAENING TS A
READING
Section I, Questions 1-14 gll! }*JOT GIVE!
1 NOTGIVEN 7 K
2 NOTGIVEN 23 E
3 FALSE 24 A
4 NOTGIVEN % G
§ TRUE 2% |
6 FALSE 27 C
7 FALSE
&I Section 3, Questions 28-40
10 v 28 A
TR ¥ C
2 ix 30 E
13 iv 3 F
14 viii 2 B
33 G
Section 2, Questions 15-27 33; E
13 FALSE 3 NOTGIVEN
16 NOT GIVEN 37 TRUE
17 TRUE 38 FALSE
18 FALSE 39 FALSE
19 TRUE # TRUE
If youscore . ..
0-16 17-28 2940
you are highly unlikely to get you may get an acceptable you are likely to get an

an acceptable score under
examination conditions and we
recommend that you spend a
lot of time improving your
English before you take IELTS.

score under examination
conditions but we recommend
that you think about having
more practice or lessons before
you take IELTS.

acceptable score under
examination conditions but
remember that different
institutions will find different
scores acceptable.
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GENERAL

Answer hey

IRAINING TEST B

Section 3, Questions 28-40)

READING
Section 1, Questions 1-14 17 NOIL GIVEN
18 I'RLUIE
i Weldown 19 FALSE
2 10.30 (am) 20 FAISE
X new shoes N C
4 (they marshals 272 A
5 Fenton 213D
6 cvery hall hour 24 E
7 10 kilometre (walk) / 10 kilometer (walk) % B
8 D 26 D
v F ) 27 C
10 INEITHER ORDER; BOTH REQUIRED
FOR ONE MARK
C (and)
E 28 D
" G 2% B
12 E 30 A
13 INEITHER ORDER; BOTH REQUIRED 31 B
FOR ONE MARK 32 F
D (and) 3 C
G 34 NOT GIVEN
14 A 35  FALSE
36 NOTGIVEN
Section 2, Questions 15-27 37 TRUE
, 38  FALSE
15 TRUE 30  TRUF
16 TRLE 40 TRUE

If you score . ..

- S

0-17

18-29

040

vou are highly unhikely to get
an acceptable score under
examination conditions and we
recommend that you spend a
lot of time improving your
English before vou take TELTS.

you may get an acceptable
score under exununation
conditions but we recommend

I that you think about having

more practice or lessons before
you take IELTS.

you are hkely (o zet an
acceptable score under

examination conditions but
remember that different

institutions will find different

scores acceplable.
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Model and sample answers for Writing
tasks

TEST 1, WRITING TASK 1

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of many possible approaches.
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Muodel and sample answers for Writing tasks

TEST 1, WRITING TASK 2

SAMPLE ANSWER

This is an answer written by 2 candidate who achicved a Band 4 score. Here is the examiner’s
comment:

it is difficult to find the main argumentis in this answer. There are fong, formulaic introductions,
not many ideas that deal with the actual issues and the writer's point of view is not consistent.
The prompt is copied directly three times in the response and the remainder is underlength at
181 words, so marks are lost for this,

The response is organised into sections, but the relationship between ideas is not always
clear and the linking expresslons are sometimes Inaccurate, as in the opening paragraph, or
used in a mechanical way, as In the second paragraph.

The dependence on formulaic language and the input material indicates a limited range of
vocabulary and there is a lot of repetition and inaccuracy. A range of structures is attempted,
but control is weak. Errors in grammar and punctuation are frequent and cause problems for the
reader.

According To universities should accept equal numbers of male and
female sfudents in every sublect Therefore, this essay will show some
veasons of argument for and avgument agamst

Fastly, T will discuss about two reasens of argument for to begin
with unversities should accepT equal numbers of male and female
students n every sublect because it will be balonce of dea while
studying. In gereval, theve usually ave different deas between mon
oncdk weman. These lead to, new ‘deas frem different vision will happen.
Arcther veason s i display That have equal of sociefy net eccept
each side. In oddition, nowadaus, the mest societies become to accept
obility of both w any way,

Secondly, I will discuss obeu® one veasen of argument agoinst that
s some sublects not suiable for each other. For example, some subiect
of sporTs such as weight putting. It is net suitable for female
becouse theve ove diffevent of body befieen mole and female

In conclusion, T ogree with universities should accept egual numbers
of male and female students n every subiect. Moreover, it depen on
what the sublects that The students woant fe study, They con choose
by themselve becouse T beleve that ¥ the students lie To sTudy
ther sublecTs, they will do it well so That I strongly ogqree with s
Top\c.‘..
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Model une sample answers for Writing taskys

TEST 2, WRITING TASK 1

SAMPLE ANSWER
This is an answer wrilten by a candidate who achieved a Band 8 score. Here is the examiner’s
comment:

This answer summarises the key features of both charts and integrates them well. Clear trends
are identified and supported with appropriately-selected figures, The answer could only be
impraved by adding an introduction 1o the general topic of the charts.

Tha information is well organised, with a clearly-signalled progression. Linking words are
used accurately and precisely, although there is occasional omission. Paragraphing is used well
Initially, but lapses in the later section.

A very good range of vocabulary is used to convey the information concisely and accurately
with only occasicnal inappropriacy. Words are used precisely and there are no errors in spelling

or word form.
A wide range of siructures is used and maost sentences in this answer are accurate. Errors

are rare and do not affect communication in this answer.

The first graph shows that fhere is a gradua! decrease in
sfudy for career reasons with age. Nearly 80k of studenfs
under X6 vyears, study for their career This percenfage
gradually declines by 10-10% every decade. OUnly 40f of
tO-49yr olds and 184 of over ¢9yr olds are sfudying for career
reasons in lafe adulthood.

Conversely, the first graph also shows fhat study stemming
from inferest increases wsith age. There are only 10% of under
Lbyr olds studying oul of interest. The percenfage increases
slovly fill the beginning of fhe fourth decade, and increases
dramatically in late adulthood . Nearly same number of 40-49yr
olds study for career und interest However 705 of over &S9yr
olds study for interest in comparison fo 18 sfudying for career
reasons in fhaf age group.

The second graph shows that employer support is maximum
(approximately 60%) for The under 1byr students. It drops
rapidly fo 3L up fo the third decade of life, and fnen
increases in lafe adulthood up o about #4% It is unclear
whether employer suppert 1s only for career-focused study, bul
fhe nhignest level is for those studenls o mainly sludy for
CATEEr purposes.
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Model and sample answers for Writing tasks

TEST 2, WRITING TASK 2

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of many possible approaches.

It is quite common these days for young people in many coun_triag_i’_@;hm%:_i
from studying after graduating from high school. The trend is not restricted to rich.
students who have the money to travel, but is also evident among poorer students
who choose to work and become economically independent for a period of time.

The reasons for this trend may invalve the recognition that a young adult who
passes directly from school to university is rather restricted in terms of general
knowledge and experience of the world. By contrast, those who have spent some
time earning a living or travelling to other places, have a broader view of life and
betier personal resources to draw on. They tend to be more independent, which is
a very important factor in academic study and research. as well as giving them an
advantage in terms of coping with the challenges of student life.

However, there are certainly dangers in taking time off at that important age. Young
adults may end up never returning to their studies or finding it difficult to readapt to
an academic environment. They may think that i is better to continue in a particular
job, or to do something completely different from a university course. But averall,

I think this is less likely today, when academic qualifications are essential for getting
a reasonable career.

My view is that young people should be encouraged to broaden their horizons. That
is the best way for them to get a clear perspective of what they are hoping to do
with their lives and why. Students with such a perspective are usually the most
effective and motivated ones and taking a year off may be the best way to gain this.
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Model and sample answers for Writing tasks

TEST 3, WRITING TASK 1

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of muny possible approaches.

The map shows two proposed locations for a new supermarket for the town of
Garlsdon.

The first potential location (S1) is outside the town itself, and is sited just off the
main road to the town of Hindon, lying 12 kms to the north-west. This site is in the
countryside and so would be able to accommodate a lot of car parking. This would
make it accessible to shoppers from both Hindon and Garlsdon who could travel by
car. As it is also close to the railway line linking the two towns to Cransdon (25 km
to the south-east), a potentially large number of shoppers would also be able to
travel by train.

In contrast, the suggested location, S2, is right in the town centre, which would be
good for local residents. Thearetically the store could be accessed by road or rail
fram the surrounding towns, including Bransdon, but as the central area is a
no-traffic zone, cars would be unable to park and access would be difficult.

Overall, neither site is appropriate for all the towns, but for customers in Cransdon,
Hindon and Garlsdon, the out-of-town site (S1) would probably offer more
advantages.
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Model and sample answers for Writing tasks

TEST 3, WRITING TASK 2

SAMPLE ANSWER

This is an answer writlen by a candidate who achieved a Band 6 score. Here is the examiner’s
comment;

Although the answer considers the main issues in the question, it deals much more with the
aspect of ‘competition’ than it does with 'co-operation’. Some of the supporting examples are
overdeveloped and divert the reader away from the argument. However, the main points are
relevant and the writer's point of view is generally clear.

The argument has a logical progression and there is some good use of linking expressions,
though the use of rhetorical questions to signal topic changes is not very skilful. There are also
examples of overusing markers, and of errors in referencing.

The candidate tries o use a range of language, but there are regular errors in word choice
and word form, and this occasionally causes problems for the reader. Similarly, a range of
structures is attempted, but not always with good control of punctuation or grammar. However,
the meaning is generally clear.

Newadous, purpose of educafion being chanaed in Koveo. There are somz pecple who
Ttk oot competition n children should be made, also others believe that children
uhs are Tought To ce-opevate as uell as become more useful adulfs There are
odvantoges ond disadvantages for both of the arquements

To begin with, what s goed if o sense of competifion in children & made? They
cewld develape Themselves more and more as they learm and study o kbt 1o win
from The competition. To prove this, in Korea, i s popular = even coton now - o
have o tufor whe come to student’s hause To teach exfra peces of study with
poying o lot of money They leavrn faster Than what they learn at school
Furthermore, during The vacotens, sfudents sfudy atvead To leam English for o
tonte nstead of revise school work. If They have experiments such as study
obread, T is one of The Srea"‘res‘f plus pamt Yo ae To the fameus well-Known high~
school. Movecver, there are Ffour big school exam and tue notenal exammateons to
fest students” level of siudies Genevally, only the highesT 40% com go ta The gend
guality highschools and colleges. children learn as much as they can, to win the
copetition To obtain gosd gualify schools

On the other hand, as they ore busy 7o enfer the schools and study ndwidually
with fheir aun tutors, There are preblems They become selfish They beceme careless
ard dont help athers alst W T s about studies There will be ne comepevations for
them Then, why ore There cemponies for many pecple To work w? Each of thew are
clever, however, Treve are weak porfs ard slvong parts for each person To co-
opevate is To mprove ths part Pesple talk ancl listen to what others Thinking of and
leown That could oles be o greal opportunity to learn wstead of learnng alone with
one Teacher

In conclusion, T strengly aaree uith thot childven daculd be tought To co-operate
vather Than compete Nebedy is perfect Pesple leam together, work together fo
develop cach other. Tharefore, T wont parents and teackers 1o educate children
concentratng on co-eperation, not cempete and ranking them.
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Model and sample answers for Writing rasky

TEST 4, WRITING TASK 1

SAMPI.E ANSWER
This 1s un answer wrilten by a candidate who achieved a Band 7 score. Here is the examiner's

comment:

This answer selects and describes the information well. Key features are clearly identified, while
unexpected differences are highlighted and illustrated. The answer is relevant and accurate with
a clear overview.

Information is well-organised using a good range of signals and link words. These are
generally accurate and appropriate, although occasional errers occur.

The writer successfully uses some less common words. There is a clear awareness of style
but there are occasional inaccuracies and there is some repetition. Grammar is well-controlled
and sentences are varied and generally accurate with only minor errors.

The table shows the details regarding the undergraund railway systems in six
aties.

London has the oldest underground railway systems among the six cities. I
was opened in the year 863, and it is already MO years old. Paris is the second
oldest, in which it was opened in the year 100, This was then followed by the
opening of the railway systems in Tokqo, Woshington DC and an’co. Los Ange‘.es
has the newest underground raillway system, and was only opened in the year
2001 In terms of the size of the railway systems, London, for certain, has the
largest underground railway systems. It has 34 kilometires of route in total,
which is nearly twice as large as the system in Pacis. K-pt.o, in contirast, has the
smallest system. tt only has |} kilometres of rovte, which is more than 30 times
less than that of London.

\nterestingh, Tokqo, which only has [95 kilometres of route, serves the
greatest number of possengers per year, at 127 millions passengers. The system
in Paris has the second grectest number of passengers, ot Nl millions passengers
per year. The smalest undarground railway system, [Kyobo, servas the smallest
number of® passengers per year as predicted.

In conclusion, the underground railway systems in dif ferent cities vary a lot in
the size of the system, the number of passengers served per year and in the
age of the system.
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Model and sample answers for Writing tasks

TEST 4, WRITING TASK 2

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of many possible approaches.

Today the way we consider human psychology and mental development is heavily
influenced by the genetic sciences. We now understand the importance of inherited
characteristics more than ever before. Yet we are still unable to decide whether an
individual's personality and development are more influenced by genetic. !acwrs
(nature) or by the environment (nurture).

. Research, relating to identical twins, has highlighted how significant inherited
characteristics can be for an individual's life. But whether these charactéristics are
able 1o develop within the personality of an individual surely depends on whether
the circumstances allow such a development. It seems that the experiences we
have in life are so unpredictable and so powerful, that they can boost or over-ride
other influences, and there seems ta be plenty of research findings to confirm this.

My own view is that there is no one major influence in a person’s life. Instead, the
traits we inherit from our parents and the situations and experiences that we
-encounter in life are conslantly interacting. It is the interaction of the two that
shapes a person's personality and dictates how that personality develops. If this
were nol true, then we would be able to predict the behaviour and character of a
person from the moment they were born. ,

In conciusion. 1'do not think that either nature or nurture is the major influence on a
person, but that both have powerful effects. How these factors interact is still
unknown today and they remain largely unpredictable in a person’s life.
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Model and sample onswers for Writing tasks

TEST A, WRITING TASK 1 (GENERAL TRAINING)

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of many possible approaches.
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© Model and sovvle answers for W=iting rerks

TEST A, WRITING TASK 2 (GENERAL TRAINING)

SAMPLE ANSWER

This is an snswer written by a candidate who achieved u Band 7 score, Here is the examiner’s
comment:

The answer addresses boih ideas put forward in the task, and the writer's point of view is
clearly stated throughout. He presents relevanl main ideas and draws appropriate conclusions
from these. Howevsr, the response is unfinished and this means that some of the ideas are
rather generalised and would need more support. The opening sentence is copied and the
whole answer is underlength, so it loses marks for this.

The writing has clear organisation and some sophisticated use of link words and referencing.
However, paragraphing is not always logical as it is organised by sentences rather than topics.

The range of vocabulary and structures is very good with a high level of control and
precision. Complex ideas are expressed in a sophisticated way and most sentences are
accurate. There are only rare errors, €.g. in spelling and subject/verb agreement,

To a large extent, | beleve that chldren are guen oo much free
time..

Free time in My Opinion re‘oe.rs o tme not spent under the direct
supervision of a parert, teacher or a verson enthrusted with the
re.sponsibilrty of brrnﬂmc‘,}_ up the chld

Such time 1s often spent on several things such as wmchm%
television, playing with friends, gong 10 parties, doing home work,
Playing ﬂama:{ on ther own amongst others.

Amongst all of the above, a chid could either be nfluenced by
his or her peer group especually when left without attention or be
influenced by what he or she watches on television most of which
are those naot meant to be viewed hrj the child's oup

In my opinion, most of the formative years of a ehld should be
spent doing school work, engagng in recreational actirties that would
develop the chid &mohonall% and mentally. | beleve this stron Y
because at a 4oung age., a child 1= quicK 10 grasp most oF all that 15
seen or heard

For nstance, a child who 15 not used to dom,% more. school work
(usually referred 10 as house work
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Model und sample answers for Writing tayks

TEST B, WRITING TASK I (GENERAL TRAINING)

SAMPLT ANSWFR

This 15 an answer writien by a cundidate who achieved a Band 8 score. Here is the examiner’s
comment:

The reason for writing is very clear in this letter but it is not clear who the fetter is to. The writer
gives information to cover all three bullet points, but only one is well exiended, and the whole
response is underlength at 135 words, so it loses marks for this.

The information is organised and it is easy to follow the message. A range of linkers is used
across the answer and they are generally accurate, bul in some places, especially the first
paragraph, sentences are not well-linked.

The range of vocabulary is sufficient for the task and there are some quite precise
expressions. There are no errors in word form, but some very basic spelling errors occur. In
terms of grammar, the range is rather limited with many very short sentences and few complex
structures. Grammar is generally well-controlled, however, with anly a few minor errors and
occasional inappropriate punctuation,

Dear Sir or Madam,

My name is Mohamad Abdul. Jam taking apart-time evening
course. | am having a hard time keeping up with this course.
I am affraid I cannot continue the course.

My problem is, T have a full-time job, from 9am - Spm.
Sometimes, I am asked 1o stay extra hours, to finish up the
rest of the work. That is because the holidays are coming up
soon. Also, T have to do some work preperations for the next
day.

At night when 1 get home, I am too tired to even prepare
adinner for myself. Also, 1 have no time to study for this

course.

I would like dropp this course this quarter. Then take it again

the next quarter. so, please accept my situation.

Thank you for your cooperation
sincerely

M. Abdul
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Model and sample answers for Writing tasks

TEST B, WRITING TASK 2 (GENERAL TRAINING)

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example oul of many possible approaches.

I think it is true that in almost every country today each household and family
produces a large amount of waste every week. Most of this rubbish comes from the
packaging from the things we buy, such as processed food. But even if we buy fresh
food without packaging, we still produce rubbish from the plastic bags used
everywhere lo carry shopping home.

The reason why we have so much packaging is that we consume so much more on
a daily basis than families did in the past. Convenience is also very important in
modern life, so we buy packaged or canned food that can be transported from long
distances and stored until we need it, first in the supermarket, and then at-l'mn&

However, | think the amount of waste produced is also a result of our tendency to
use something once and throw it away. We forget that even the cheapest plastic bag
has used up valuable resources and energy to produce. We also forget that it is a
source of pollution and difficult to dispose of. '

| think, therefore, that governments need to raise this awareness in the general
public. Children can be educated about environmental issues at school, but adults
need to take action. Governments can encourage such action by putting taxes on
‘packaging, such as plastic bags, by providing recycling services and by fining
households and shops that do not attempt to recycle their waste.

With the political will, such measures could really reduce the amount of rubbish we
produce. Certainly nobody wants to see our resources used up and our planet
polsonad by waste. '
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